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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 4.77 5940 | Zhst | 000 ~ 477 | 1.76 9.41 Thns 1.00] 5.00 ~ 5.00 5940 | Zh st | 500 ~ 500 ( 1.76 9.41
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 100 | 000 ~ 589 7368 | #hust | 000 ~ 589 | 1.80 9.62 Fhst 100 | 500 ~ 6.69 73.68 | #h st | 500 ~ 6.69 | 1.80 9.62
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 100 | 000 ~ 570 7130 [ #hst | 000 ~ 570 2.10 11.26 Fhst 100 | 500 ~ 810 7130 | hiist | 500 ~ 810| 2.10 11.26
4 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - — —
Zh st 100 | 000 ~ 6.09 76.41 | Zhist | 000 ~ 6.09 | 2.01 10.76 Fhst 100 | 500 ~ 805 7641 | Zhst | 500 ~ 8.05| 201 10.76
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 5099 7508 | #hust | 000 ~ 599 2.12 11.34 Thst 100 | 500 ~ 885 7508 | #hiist | 500 ~ 885 | 2.12 11.34
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 6.21 7802 | #hist | 000 ~ 6.21 | 2.08 11.12 Zhst 100 | 500 ~ 890 7802 | #hiist | 500 ~ 890 | 2.08 11.12
; 100kN/mM#E#B %% - -~ - —|3m&#EZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st 100 | 000 ~ 653 8223 | #hust | 000 ~ 653 | 2.01 10.74 Fhst 100 | 500 ~ 890 8223 | #hiust | 500 ~ 890 | 201 10.74
g 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 100 | 000 ~ 6.18 7761 | Zhst | 000 ~ 6.18 | 2.10 11.22 Fhst 100 | 500 ~ 9.04 7761 | Zhist | 500 ~ 9.04 | 2.10 11.22
9 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ - — —
Zhst 100 | 000 ~ 517 6449 | Zh st | 000 ~ 517 1.82 9.73 Fhst 100 | 500 ~ 564 6449 | Zhs | 500 ~ 564 | 1.82 9.73
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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